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Question
ware

X, UmaER U,z ad v, Zfag 1 v, Xarde | v At wm g

X is the brother of U. U is the daughter of Z. Y is the daughter-in-law of Z. V is the son of X. Who is the
mother of V 2

A X ® U © z o Y

af 7 = 12 798 9 7 7, 57 9 791 & 6 77 7, T 310 6 991 & 3 71 O =l &, 1 SAa: I A
14 o fem o A E

(4) (®) © @ (D) e

If & person walks from 12 o’clock to 9 o’clock, then from 9 o’clock to 6 o’clock, and finally from
6 0°clock to 3 o’clock, in which dircction is the person finally facing ?

(A) North (B) South (C) East (D) West

et = AT % fem & S e e g fe |

(A) aHE (B) wam

(C) =l (mam (D) = i@ i
Barometer is to Air pressure as Anemometer is to =

(A) Temperature (B) Wind speed

(C) Humidity (D) Speed of aeroplanes

ww i )
e : Fo - 4t 7
Complete the analogy :
Iron : Fe :: Silver : ?
(A) Na (B) Cl €) Ag D) K

z 49 fFeT AT A, B 3l € 3 ofr fafer i oeft 2 1 A #1 B 7 2 5 sifirw frerd # it B #5 C 2 4 e
firerel & | S Sl 1 S O 7

The total amount of ¥ 49 is distributed among A, B, and C. A receives ¥ 5 more than B and B receives T4
more than C. What is the ratio of their shares ?

(A) 21:14:12 (B) 14:16:12 (€) 21:16:14 D) 21:16:12

THFIE F IR, 30, 1,2, 3,4, 5,6,7, 8 AT F A, B, C, D, E, F, G, H, | 30 J 700 awitar smar
Ll

FWHZH [(C x D) + (F x J))/D F AH F@ AN

According to a code, digits 0, 1,2, 3, 4,5, 6, 7, 8 and 9 are represented by A, B, C, D, E, F, G, H, 1 and J
respectively.

In this code find the value of [(C % D) + (F x I)}D.

(4) 16 ®) 15 © 19 ) 17

A% 57 “LANGUAGE® ¥ Teet St it 378/ 1T # weed frw i, it sfte = svee 71 oft, o s o
ST S geft e AT o | 91 S o & e e g S e a2

If the first and second letters in the word ‘LANGUAGE' were interchanged, also the third and the fourth
letters, the fifth and the sixth letters and so on. Which letter would then be the fifth letter counting from the
left?

A) G (B) A © N D U

et fe o et =6 qu fifsrg -

Complete the pattern given below @
D, DD, DDDD, DDDDDDD,

(A) DDDDDDDDDDD

(C) DDDDDDDD

(B) DDDDDDDDDD
(D) DDDDDDDDDDDDDD

ST # STt e e e |
Find the next number in the series.
88, 108, 130, 154,

(A) 160 (B) 190 © 170 (D) 180

o s T IR 3 e o e v R | o & et 1 g A S B e
e e e |

TFAB

Ecl
14%

T A = 1200 Tt et AT = 1000 Friiar
A T A S T B 3 3 A7 A € 30 S P, 9 A i T 40 3 Frimm, e e
20 S forcimm, = welt e 15 wi e s s A e 18 s R g
T A ST B3R T el WS A e ?
(A) T52,260 (B) T52,360 (C) ©52,630

(D) 52,620
Study the pie-chart carefully to answer the question given, The pie-charts show the percentage quantity of
fruits at two fruit shops A and B,

Shop A Shop B
Guava

Total quantity = 1200 kg
If Mangoes are priced at 30 per kilogram, Apples at % 40 per kilogram, Oranges at T 20 per kilogram,
Other fruits at Z 15 per kilogram and Guavas at 13 per kilogram in both Shop A and Shop B, what is the
combined price of all fruits at Shop A and Shop B ?

Total quantity = 1000 kg

(A) 752260 (B) 752,360 (€) 752,630 (D) 752,620

T LSS G L E 75% S i e wdt €1 3 o e d Ry A S e e Esom A AR
70%@%%ﬁ§ﬁmq§aﬁ%|mﬁ,mﬁéﬁwwﬁ—m%ﬁw 18 oz F1 7 AT I3 |
FRH ?

(A) sofmfrsfaser  (B) 1ofisfasa () gofefrafasr (D) 100 R wf e

A train can travel 75% faster than a car. Both start from point A at the same time and reach point B,
70 kms away from A, at the same time. On the way, however, the train lost about 18 minutes while
stopping at the stations. The speed of the car is

(A) 80kmph (B) 110 kmph (C) 90 kmph (D) 100 kmph
Tttt & 9 A witerE 2w e FE A e 2

(A) T (B) femm

(© st (D) et g feraor

Which one of the following is mat the graphical representation of statistical data
(A) Bargraph (B) Histogram
(C)y Frequency polygon (D) Cumulative frequency distribution
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s T 55 1 S o T g @ A A i ey w8, T o e 6
feerfer#, e o g iz 1 feorf & Sfcg ave | 109 o0 F wrie 3u o A o e fnd 22

(A) swafz (B) =g (€) w® (D) @feafm

Twelve students stand in a circle facing the centre and representing the hours of a clock with the first
student at the 1% hour position, second student at the 2 hour position and so on. In which direction is the
student on the right hand of the 10 student with respect to him ?

(A) North-West (B) South-East (C) North (D) South-West
SGHH T 79 i |
Find the dissimilar number.
78, 104, 130, 156, 178
(A) 156 (B) 178 (©) 104 (D) 130

3 et 1 3 < e E  w, 80 Ffe At & e g, 36 a4 Sl oty &
el g4 1 H 40 TS § A 8 2
(A) 3607 (B) 440t (©) 4207 (D) 4007

What is the combined length of two trains when one, moving at 80 km/hr, crosses another, travelling in the
same direction at 44 km/hr in 40 seconds 7
(A) 360m (B) 440m (C) 420m (D) 400 m

af% 95474 F1 GCBEB foran simam &, &7 73453 =1 %4 feran smom 2
1f 95474 is written as GCBEB, then how is 73453 written ?
(A) ACBEA (B) EABCA (C) AEBAC (D) AEBCA

Frrferfiae aTfersT =1 STeRA FIRE 3 72 5 39 St |

[sr [M[1i[x[r][a]B]e[s[w][r[uJulp]r]v]
‘3#3‘6 5 7|R‘@l‘2‘3‘4 9‘»‘s|
jﬁ:ﬁmﬁw%ﬁa@m BMIKPU &1 @ig 71 # 7

%

Tfe TRET S Uk T & S ST SHE U TR, A1 A1 5 o IS % @ H I (oA e =i |
(A) 8%I158% (B) %6158% (©) 8615#% (D) 8615#8
Study the following table and answer the question.

Jtner [MJ 1 [k [1]a]B[e]s[w][r]u]Julp]r[v]

‘Cndc‘6|"5"7|ﬂ‘@‘l‘2‘3‘4%9‘#‘5|
What is the code for BMJKPU as per the given table ?
Condition :
If the first letter is a consonant and the last letter is a vowel, both are to be coded as the code of the vowel.
(A) 8%I158% (B) %615#% (€) 8615#% (D) 8615#8
7 28, 126, 344, 1332, =1 g e |
Complete the series 28, 126, 344, 1332, @
(A) 2167 (B) 2197 (©) 2168 (D) 2198
fer e Feraet 3 4 ferww (e = g
Among the given options, choose the odd one out.
27,125,343, 512,729
A) 27 (B) 343 ©) 729 (D) 512

ot Tor (7) % T S At § 4 stea sty g

Choose the appropriate figure from the Answer Figures to replace the question mark (7)

Qr3[Q] »

1 I 1t w

) ©° ®) @" (© @° ) @
[+]

wafia wea 1 FI190 |

TAHE ; FEE o FE 7
(&) for (B) wit
© f= (D) ==
Find out the related word.

Diamond : Baseball :: Court : ?

(A) Ring (B) Arena
(C) Rink (D) Squash
T TTeR A T |

W?:aiﬂ:"h‘lﬁ:?
(A) T (B) #ATTa
©) frer (D) Tt ST

Find the related word

Pi: Circle :: Phi: ?
{A) Pentagon (B) Rectangle
(C) Triangle (D) Golden Ratio
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P, v e Sifn s Fraforfa war w sa i ) A FSelect- |

X 3N A — i
oful\ 0] 0] O — semnm:
A

11— <i=framdt
e s e Frhr i 2
(A) 45 (B) 75 €) 35 (D) 70

Examine the provided diagram and respond to of the following question.

A —» Persons who take tea

fo N
W&“ O —> Persons who take coffee
T

l:l —> Persons who take juice

How many individuals drink only coffee ?
(A) 45 B) 75 €) 55 (D) 70
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150 BT = T T 1, 70 BT VR H I g, 60 B THEA TR  SW g S 20 B 0 S e B lect—
forater it o 3ol g | it 2 F o ol it s

In a class of 150 students, 70 students passed in Mathematics, 60 students passed in Chemistry and

20 stdents passed in both Mathematics and Chemistry. Then the number of students that failed in both

Choose File | No file chosen

Submit Objection

the subjects are
* 20 (B) 40 (© 60 ) 50

“TLSEEV" 37} 31 et 5 =t #1 e & 3w | ifden e Freferfiaa # & -0 60 s 3 B lect—
A E?

Observe the arrangement of the series of letters “TLSEEV". The logical arrangement can give which of the
following meaningful words ?

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Submit Objection

(A) VESSEL (B) STEEL (C) TEASEL (D) LEAVE
Fratfra ST i R e 77 “POTASSIUM® 3 ST S7e 1 F727et W a0 ST 370 Frafertin # & a1 A Select-

3T S T FFAE |

Determine which of the following words can be formed using each letter of the given word

“POTASSIUM” only once.

(A) MASS (B) TOAST (C) MOUSE (D) POPPS

P, o W o R Q) o0 F o B R, o B o # A s, o W ol B A c lect—

9QISP3IRES S HAAFIE?

If “P” represents “+’, “Q" represents *’, ‘R’ represents “+ and °S” represents ', what is the value of
9QI5PIRBSS ?
A) 4“4 ® 47 (©) 48 ® 9
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A men=m? mo+n? T mIn=(men? -mn LA (223)4(523)= c lect—

If m#n=m?—mn+n? and m?n=(m+n)?—mn, then (273)#(5=3)=

(A) 4332 (B) 978 (€) 361 (D) 876

et w1 T i [¢] lect—
arft « et A Y

(A) v (B) Wiz (©) wgferar D) &=

Find the related word
Elephant - Sri Lanka :: Kangaroo : ?

(A) India (B) England (C) Australia (D) Russia

s e 1 i T g, g ST e o e, < St e ) o gt 2 & g A c lect—

T At st & A @ 2

(A) it ®) T

(©) (D) ==

Pointing to a photograph, Madhu said 10 her friend Krishna, “He is the only son of the mother of my
father.” How is Madhu related 10 the person in the photograph ?

(A) Niece (B) Grand-daughter

(C) Daughter (D) Cousin

Choose File | No file chosen

Submit Objection

A S sfen @ o fre e | 8 foct-
Fill in the blank to complete the given letter series.
ABC,GHI, __ ,STU
(A) KLM (B) MNO
(C) JKL (D) LMN
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e fafi i #, “GARB’ 1 ‘HEAR® forar s & | e ot  *DROP 3t forear s 2 D lect—
In a certain code, “‘GARB’ is written as “HEAR’. How will ‘DROP’ be written in that code ?

(A) EWXF (B) EUWG

(C) EUXG (D) EVXF
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e e e o it i st Fota offer for wta-ae frod e o sega e 2/ £ D lect—
Fo - A AT AT ST T A e g TR AT g |

o -

L et S A e e R

1, e e A S e aTee ST UHE e |

(A) et Frd 1 sigeor e & (B) e fred 11 s awar &

(C) T e 1 11 S e ¥ (D) T e 1 3l T 1 S

Read the Statement and Conclusions given and decide which of the Conclusions follow(s) from the
Statement,

Statement :  Red-haired people love riding bikes,

Conclusions

L All people love riding bikes.

Il Red-haired people love riding bikes only.

Choose File | No file chosen

Submit Objection

(A) Only Conclusion I follows (B) Only Conclusion I follows
(C) Fither Conclusion T or I1 follows (D) Neither Conclusion I nor I follows
FHaifera s A Fifg | c lect—
Find the related number.

7:48::12:7

(A) 121 (B) 84 ©) 143 (D) 112
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e s 1 i s g e 45 Pt e s g, v e e e e 6 2

(A) ¥ (B) e

(© o)

Which way would you face now if you turned 45 degrees to the left after starting by facing north-cast ?
(A) North (B) South

(©) West (D) East

S T § et 3 i A Fen & S R 00 fesft amd i e & ofte 5 e o e & a o o geedt

foig & el 2@ 2
(a) 6fmi ®) 5 fl
(©) 7 (D) 4 Ft

How far are you from your starting point when you walk S km north and then twn 90 degrees to your left
and walk another 5 km ?

(A) 6km (B) 5km
(€) Tkm (D) 4km

T AT ) TERATHG A e g A 2 |
Identify the figure that completes the pattern.
AL O
A Q!
AA
al?

Xy

©)

©) E:i:i

% faa T o TAT R fR S & S e SR A £, A o 65% &1 S | A adw o
(%3 Frare

1f the selling price s tripled and cost price doubled, the profit would become 65%. So what is the present
profit (in %) ?

(8 50% (B) 45% (©) 265% ) 10%

0.7, 035, 1.05 T ETgaH FuTIae (LCM) 1 Hifg |
Find the LCM of 0.7, 0.35, 1.05.
(A) 0105 (B) 07 © 007 D) 21

2 eI AR 25 § TSR A H G (HCF) SAAaT. (LOM) &5 3 #1105 § | 1 41 sl %
A 1 AR A A |
The sum of two numbers is 25 and their HCF and LCM are 3 and 105 respectively. The sum of the
reciprocal of the two numbers is

5 5 3

w & ®) © % o &

arfit gt =Terg i = o 2 = 5 % 25,000 i i, af waETa At o fore e av A 4% 3 5% s
2, At

An amount of % 25,000 in 2 years at compound interest compounded annually, if the interest rate for the
successive years be 4% and 5% per annum respectively, is :

(A) 26800 (B) 727300 (€) T28,000 (D) 29,000

amT F A i am F e o T Af e w22 fefree s s fefree @ ) dr am e
(Ferettedz #) e o |

‘The speed of a boat along and against the current is 22 kivhr and 18 kivhr respectively. Then the speed of
the current (in knm/hr) is :

@7 (B) 4 © 3 (D) 2

o T U e T S 9 e e § 1200 St st e & | af 7w sifes e w0 10% Frge
T3, e v T A |

A shopkeeper marks the price of a book 120% above its cost price. If he gives a discount of 10% on the
marked price, then find his profit %

(A) 98% (B) 65% ©) 10% D) 60%

T S A AT T 6,400 T | U GATTRT T e 25% e st s = # | fof 3 e, 7w st
T T 20% 1 72 A A R | A T e R 2

The cost price of a table is T 6,400, A merchant wants to make 25% profit by selling it. At the time of the
sale, he declares a discount of 20% on the marked price. Then what is the marked price ?

(A) 10,000 (B) 16000 (©) 14,000 (D) 714,500

% L, % L,
A, B 3 C U o e F & | A o ol o 33 3 0% v &, B e lt 2 33 5 0% e e & offe
€7 P AT & | A 3 3 0 T T 4,050 WTH g, 7 C 1 9 B e & Fore wifir g
A, B and C started a business. A invested 33 %% of the total capital, B invested 33 %% of the remaining
capital and C, the remaining. If the total profit at the end of the year was T 4,050, then find the amount by

which the profit of C exceeds the profit of B.
(A) T520 (B) T900 (©) 7675 (D) T700

C 1w w24 ot F i D 16 et # o0 v | 6 v wne g e, AT D F e g e @
4 R et e i e | v v P ot f g o 2

(A) 12 ®) 10fF ©) 9.6% (D) 9f

C can do a piece of work in 24 days and D in 16 days. They began the work together, but D left the work
4 days before its completion. In how many days was the work completed ?

(A) 12days ®) 10days (©) 9.6days (D) 9days

110 St S 5 T, T AT T S @ o o 22 Wt  Fo e o s o e & | e
e e i H)

After selling 110 oranges, a shopkeeper claims that he makes a profit equal to the selling price of
22 oranges. Find the profit percentage of the shopkeeper.

(A 2% (B) 75% (© 25% (@) 80%

o T A 3 g 2 16 Rt i o e s & i 3t R 6 afemd 7w 16 R # g s 2 o
1279 i 8 sl vk T 1 e £, A S ] e fel g e

) sk (B) 4f © 3fF (D) 10f=

A work is done by 3 males in 16 days and the same work is done by 6 females in 16 days. If 12 males and
§ females work tgether, then they completed the work in how many days 7

(A) 5days (B) 4days (©) 3days (D) 10 days

T Shterst 3 Tget A g HiT T S Y ST T 600 1T ST Fk U A S 5 T STy i 75%
e form & | W 8 2 T W S S 60% w1 SR i § S s 2 i we g A
et 78 gt ¥ Fore, S srerears: T1fan st 2, Y 3 i & Wi SR e st @ A 7

A college has raised 75% of the amount it needs for a new building by receiving an average donation of
600 from the people already solicited. The people already solicited represent 60% of the people the
college will ask for donations. If the college is to raise exactly the amount needed for the new building,
what would be the average donation from the remaining people to be solicited ?

(4) 7300 (®) T700 (€) 7400 (D) T500

A

Select—

Choose File | No file chosen

Submit Objection

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Choose File | No file chosen

Submit Objection

—Select—

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Submit Objection
lect—

Choose File | No file chosen
Submit Objection


https://ctcp24.com/Qimg401/C3MA1425.jpg
https://ctcp24.com/Qimg401/C3MA1410.jpg
https://ctcp24.com/Qimg401/C3MA1140.jpg
https://ctcp24.com/Qimg401/C3NA1297.jpg
https://ctcp24.com/Qimg401/C3NA1320.jpg
https://ctcp24.com/Qimg401/C3NA1349.jpg
https://ctcp24.com/Qimg401/C3NA1153.jpg
https://ctcp24.com/Qimg401/C3NA1210.jpg
https://ctcp24.com/Qimg401/C3NA1219.jpg
https://ctcp24.com/Qimg401/C3NA1229.jpg
https://ctcp24.com/Qimg401/C3NA1268.jpg
https://ctcp24.com/Qimg401/C3NA1572.jpg
https://ctcp24.com/Qimg401/C3NA1622.jpg
https://ctcp24.com/Qimg401/C3NA1812.jpg
https://ctcp24.com/Qimg401/C3NA1432.jpg

50

51

52

53

54

55

56

57

58

59

60

61

62

Join Telegram Group "HaryanaJobs.in"

25% o AT FTTT ST 7 6 o T o e i o e s 2

(A) sa% (B) 1o=d (C) 6 (D) 8=F
In how much time will an amount be tripled, at the rate of 25% per annum simple interest 7
(A) 5years (B) 10 years (C) 6years (D) 8 years

A HESH A ST 1 : 2 B | 7R A HEArs 7 21 ey f, W ST 5 < 7 AR | T HSAA A
Hif 1

The ratio of two numbers is 1 : 2. 1f 21 is added to both numbers, then the ratio becomes 5 : 7. Find these
numbers

(&) 7,14 ®) 21,42 (€) 14,28 (D) 8,40

T I H 8% FAan 4 59 7 A€ STt | 6 G #, et af Seaane & | s o wdt w7 48% W
0, A TR F1 110 TR H 6 S | T 5 AR 7 e S e o 2

8% of the voters in an election did not cast their votes. In this election, there were only two candidates.
The winner, by obtaining 48% of the total votes, defeated his contestant by 110 votes. The total number of
voters in the election was :

A) 1210 (B) 1235 © 1220 (D) 2750

T WV U T % 100 BT 6 S S 1 T A qoE, T F 8.6 F 5 6.8 e (0 Fre
ftt S 5.8 % &7 5 0 FTE | 9 T ST 5 At siwd st e

A tabulator while caleulating the average marks of 100 students in an examination, by mistake enters 6.8,
instead of 8.6 and obtains the average as 3.8. Then the actual average marks of those students is

(4) 5818 (B) 5.782 (©) 5881 (D) 5928

o AT AT 1 % 48 T TRl i T 28 wf e 1w e o few st 3 e e A 9w € 40
it farett a1 feporor a0

In what proportion must a grocer mix sugar at % 48 per kg and T 28 per kg so that he makes a mixture
worth 40 perkg ?
a) 7:12 (B) 1:4 © 2:3 ) 12:7

T ST A W 10 TR e @ v wwar & 1w a e s s afy s a, w60 et
SFETE (T % ) fF e e 7

(A) sH (B) 1092 (©) 6% (D) 452

A boy can swim in still water at a speed of 10 km/hr. If the speed of the current would have been 5 kmph,
then the boy could swim 60 km downstream (along the flow) in how much time ?

(A) 5hours (B) 10hours (C) 6hours (D) 4hours

W HEIS 4, el diF w6 sitaa 15 # S st di @ sitaa 16 % 1 @t st wen 19 2§ vect sen
wEr

‘Out of four numbers, the average of the first three is 15 and that of the last three is 16. [ the last number is
19, then the first number is :

*) 18 ®) 17 © 16 ) 19

Frefefiaa # & o (i) #1 9f :
Pick out the 0dd one from the following :
1331, 1728, 2197, 2744, 3365
(A) 3365 (B) 2197 © 1728 (D) 1331

Frerferfiaa # & f (arre) F1gfw:
Pick out the odd one from the following :
5,15, 60, 350, 1800
(A) 15 (B) 60 (©) 350 (D) 1800

O AT 1 SR I A Y, S A e, Tee At § gt ot & | 7% Afeer s @ e
s e & 7

(A) =t (B) ¥ (€) weft (D) @&

Pointing to a woman, Ashok said, “Her granddaughter is the only daughter of my brother”. How is the
woman related to Ashok ?

(A) Mother (B) Daughter (©) Wife (D) Mother-in-law

FEA: 3,7, 15, 31,63, ...

e & STt s T a7

Series: 3,7, 15,31, 63, ...

What is the next number in the series ?

A) 97 (B) 114 ©) 127 (D) 135

3 3152 1 I A0 A HTH |

(a) (B) @it © = (D) siifiga
Choose the word which is different from the rest.

(A) Kiwi (B) Hornbill (C) Emu (D) Ostrich

O et H e A o = 3 e gt o e it

S, 2024 7 T 23 F 28 4 F i< |

A 3 7 e S |

- FH 60% ST F Ty v e 7 v fepog et

T 50 H = 25 F |

it gwfiear & wre PG 7 &, 1 A afs He waw S e |

it Fufiaar $ze i ZpFan si T T oA &, A A 1 e o e & e e 1

af FeftT SR W F Ste S a A T G w2, A F g R At
SR |

Freferfias ST % s g s o o - s o e 2

T : 56% T F WT MCA. 7 iy« 12 T, 1999 | o foverr F w5 d o o g
55% st A R

(A) ST Tt 3 s AT o1 T o &

(B) IfaaR #1 5 F €9 4 94 A

(C) e 1 =g v o = 3 far e &

(D) TrsEiwE

Consider the conditions for selecting faculty members in a School :

Age between 23 to 28 years as of April, 2024.

Work experience of minimum 3 years.

Postgraduate degree in relevant subject with at least 60% marks.

Minimum of 25 marks in the interview, out of 50

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate docs not score minimum marks in the interview, the case is to be referred to

Principal of the School

g Ifthe candidate satisfies all other qualifications except the age limit, the case is 10 be referred to the
Board of Dircctors of the School.

Which course of action should be taken for Sudha Ranjan based on the following information ?

Sudha Ranjan : MCA with 56% marks. Date of birth : February 12, 1999. 5 years of expericnce as a

teacher. Obtained $5% marks in the interview.

® e e TR

me a0 o8

(A} Case s to be referred to the Board of Direetors of the school
(B) Candidate is not to be selected as a faculty member

(C) Candidate is to be selected as a teacher

(D) Duta is inadequate

D

-Select—

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

lect—

- Submit Objection
lect—

* Submit Objection
lect—

* Submit Objection
lect—

- Submit Objection
lect—

- Submit Objection
lect—

- Submit Objection
lect—

< Submit Objection
lect—

- Submit Objection
lect—

* Submit Objection
lect—

* Submit Objection
lect—

- Submit Objection
lect—

Choose File | No file chosen
Submit Objection


https://ctcp24.com/Qimg401/C3NA1539.jpg
https://ctcp24.com/Qimg401/C3NA1404.jpg
https://ctcp24.com/Qimg401/C3NA1426.jpg
https://ctcp24.com/Qimg401/C3NA1058.jpg
https://ctcp24.com/Qimg401/C3NA1095.jpg
https://ctcp24.com/Qimg401/C3NA1026.jpg
https://ctcp24.com/Qimg401/C3NA1039.jpg
https://ctcp24.com/Qimg401/C3RA1355.jpg
https://ctcp24.com/Qimg401/C3RA1367.jpg
https://ctcp24.com/Qimg401/C3RA1406.jpg
https://ctcp24.com/Qimg401/C3RA1259.jpg
https://ctcp24.com/Qimg401/C3RA1272.jpg
https://ctcp24.com/Qimg401/C3RA1347.jpg

63

64

65

66

67

68

69

70

71

72

73

74

75

Join Telegram Group "HaryanaJobs.in"

ST i st o6 wer it |

Find out the number of triangles in the figure.

(A) 20 (B) 21 (C) 28 (D) 22

T forapedt 7 ¥ Sfre # S o 3 )

Find the next figure in the series from the given options,

O, O,
©:® 9
O, (®)
o a am ) )
(o)
w |©XC ®) ©| X ®

et # & sl ador fdfara s i afe ado Xy wrdr:
Find the mirror image of the figure from the following if the mirror is placed at XY :
X

Ol
S O o3 0

o ra it

Find the odd one out.

) (=] | g
SO »|@8| o O] «0

O T X, Y 3 2 AW A A T TR F e ¥ | A W X o o w4 e A Y,
e 2 & St o &, A S wew e w7

A) Y (B) X © 2z (D) XAz

A town has three streets parallel to each other named X, Y and Z. If street X is not the busiest, and street Y
is busier than street Z, which street is the busiest 7

A vy (B) X ©) Z D) XorZ
SHEHT EEAT e i |
Find the dissimilar number.
(A) 343 (B) 169 © 512 (D) 216
G 0 I

T W - FEE 7
(A) Seafo (B) ®iEo= ©) 3 (D) w=H
‘Complete the analogy :

Heart : Circulate :: Lungs : ?
(A) Excrete (B) Breathe (C) Vision (D) Digest

T O () T S O T ciarad et (<) T e AT €, A et ST GR- )
FT ST A 2

(A) e (SfwTT) (B) S (W) (©) Fetam (3fsiee) (D) e (derT)

When a cube is sliced by a plane perpendicular to one of its diagonals, what is the shape of the resulting
cross-section ?

(A) Octagon (B) Hexagon (C) Trapezoid (D) Pentagon

1T siepter ¥ fgt 1 s e |

Find the number of triangles in the given figure.

(A) 9 (B) 12 © 11 D) 10

S 24 R HEATHI AR § -
The sum of the first 24 natural numbers is :

(A) 300 (B) 576 (© 325 (D) 600

e T H, T S wen Agtw 1 wen A i R | Fefafen 3 & e e, wa o= A
AT A A€ T

Ina classroom, the number of boys s three times the number of girls. Which of the following totals cannot
represent the number of children in the class ?

(a) 20 ®) 24 © 22 D) 40

AT FE, AE AT A A F WA F I 2 | e e e A

() dfs (B) faar (©) =g (D) =T
Dhanesh said, “This girl is the wife of the grandson of my mother.” Who is Dhanesh to the girl ?
(A) Husband (B) Father (C) Fatherinlaw (D) Grandfather
Tmferian et H 7o e i e i ;

Identify the incorrect number in the following series :
27,26,24,21,18, 12
&) 27 (B) 12 ©) 18 (D) 24
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(A) 10 B 11 ©) 12 @) 13
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i, qw, wher i e o s E 2
(A) @mT (B) AT (C) FmT (D) w=71

S | S AT AT HH AT R 7
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wferaTer 3 fom S e 1 o g i menta e ar e

(A) e ST e (B) T [T
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(A) sFE (B) frz (C) safime (D) HE=
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(A) wfaw adam (B) wWT= T (C) g (D) Wi Fe
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(A) SR (B) Frrer (©) FifeEm (D) e
Which fossil fuel is primarily used for electricity generation ?
(A) Natural gas (B) Coal (C) Petroleum (D) Uranium

Foerferfiaa & & a7 2o amen (srEi) F A R 7

(A) =R SR (B) AT IF (C) Ffer (D) Torafa afewst
Which of the following is an example of a non-tariff barrier ?

(A) Trade Agreement (B) Import duty (C) Quota (D) Export subsidy
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ST AT ST e 8 2 B ~Select-
(A) Fe waiariia qE) 1 waiian F7a 2

(B) % W, W40, S, S S sivezicran # siie Ahafe aeam i agme g

(C) @ AT WS 1 Gferersieh s &

(D) & ST FEVT § Falfee Wi 1w e ¢

‘What is the importance of the Malabar Naval Exercise ?

{A) Itaddresses environmental issues

(B) It enhances naval cooperation among India, USA, Japan and Australia

(C) It facilitates trade agreements

(D) It addresses issues related to water pollution
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(A) 9T FEF . (B) HF S F A
(C) it (gl w11 (D) il =1 33Wet (daaes)
‘Which of these is considered to be the hardest substance in the human body ?
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(A) Kneecap (B) Toe Nails
(C) Elbow (bone) joint (D) Tooth Enamel
Tl ¥ AR AT v et & § e & aea f s a2 B lect—

(A) T AT HE

(B) TR dee st

(C) T wiEA

(D) e T (i s

The Human Rights Commission in States is established under which of the following laws ?
(A) State Protection of Human Rights

(B) Protection of Human Rights Act

(C) Constitution of India

(D) The United Nations (Privileges and Immunities)
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In what ways dogs the Public Safety Act (PSA) of Jammu and Kashmir ensure internal security ?

(A) By ing dialogue and iliation between conflicting parties

(B) By strengthening border seourity and surveillance measures

(C) By detining individuals suspected of activities prejudicial 10 the security of the state

(D) By enhancing community policing and engagement
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The Internet Technologies used by terrorists to spread terrorism are termed as :

(A) Bioterrorism (B) Narco-terrorism

(C) Ecoterrorism (D) Cyberterrorism

o Fopfi e &, At ot i At & it faeelt o s e 3 fer st a6 e v B lect—
1 ot T feafe & wd T o # |

(A) T (@) e (©) =T () forrm e

When demonetisation occurs, the currency loses its and is no longer of the status to be used as

Legal money for any kind of transaction.

(A) Currencyvalue  (B) Face value (C) Money value (D) Coin value

TR T e fie (NFSM) 7 e 2 D Select-

(A) oot drafer FiomT  HeA i (B) 106/ dreradfer afsir & &
(C) 1 1= dererfer aite % wem i (D) 1 15T drereedfey drir & & 3
When was National Food Security Mission (NFSM) launched ?

(A) Midof Slm Five-Year Plan (B) Endof 10“' Five-Year Plan
(C) Midofl 1" Five-Year Plan (D) Endofl 1"® Five-Year Plan
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Which Indian has won the 2023 Ramon Magsaysay award ?

(A) RaviKannan  (B) Gautam Adani (C) Kailash Vidyarthi (D) Anil Ambani

FI-HT TR e T e e & R s E ¢ lect—
(A) dfierg (B) FATew (©) et (D) i W

Which Indian state is famous for the classical dance form Mohiniyattam ?

(A) Tamil Nadu (B) Karnataka (C) Kerala (D) Andhra Pradesh

ToAfeTiiar & 9 -7 HeTHIAT (For ) FAE D lect—
(A) W (B) et (€ e (D) S s

Which of the following is the cause of Meclanornia (skin cancer) ?

(A) Pollution (B) Acid rain (C) Allergens (D) Ozone depletion
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(C) e i agrar &
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What was the main purpose of Indo—Sri Lanka Agreement signed in 1987 7

(A) To establish economic corporation

(B) To resolve the civil conflict in Sri Lanka and ensure Tamil minority rights
(C) To promote tourism

(D) To develop nuclear energy
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Which of the following is/are subsets of wholesale inflation ?

(A) Housing Inflation only
(C)  Walking Inflation only

(B) Food Inflation only
(D) Both Housing and Food Inflation
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What is the *Startup India’ initiative 7

(A) It provides subsidies for research and development activities
(B) It encourages innovation and entrepreneurship

(C) It regulates the establishment of small and medium enterprises
(D) It provides tax incentives
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(A) T (B) wemmm (C) e (D) et feeft
What is the name of the State Flower of Untar Pradesh 7

(A) Gulab (B) Palash (C) Lotus (D) Water Lily

AT o AT B 4 Frtertian # & e e g o

(A) hiee g (B) ¥ehe W5 (C) =T e (D) 1. S Ay
Basketball was said to have been “invented” by which of the following ?

(A) Coburn Haskell (B) Alfred Mynn (C) Charles Goodyear (D) Dr. James Naismith

forlt ST o e AT SMS 3 AT T wwerar g |

(A) ffam (B) & () T = (D) efERm
is phishing through some form of a text message or SMS.
(A) Smishing (B) Scam (C) E-mail scam (D) Caifishing

ST A A TR 2

(A) Fm (B) sl (C) Faewar (D) gesit
What was the ancient name of Beas ?
(A) Vipas (B) Askini (C) Vitasta (D) Purushni

Frfertiad # 147 Ut wEa # s g 8 7

(A) AT (B) FT® (©) w@m (D) diferm=r
Which among the following is mor an example of synthetic fibres ?
(A) Nylon (B) Cotton (C) Rayon (D) Polyester

o e T e i agfe 36 A ST R 2

() = (B) afwr e (C) s (D) 4tz
Which country is known as the “Land of the Rising Sun™ ?
(A) China (B) South Korea (C) Japan (D) Thailand

“ifeTe 3 ATt R S AT TEe R F 9 ?

(A) TH. TEEET (B) et w

(C) wEEAEEE (D) i =
Who was the first Indian to win the Nobel Prize in Physics ?

(A) S.Chandrasekhar (B) Homi Bhabha

(C) Satyendra Nath Bose (D) C.V.Raman
Foraferiiaa weramT ST i § -6 s e e e o

(A) FofmE (B) TewEH

(C) == (D) Il reeiifes AT (92=)
Which one of the following ocean currents is different from others ?

(A) Kuroshio (B) Gulf Stream

(C) Labrador (D) North Atlantic Drift

WA ST % o Siess % aed gt U ST I © 7

(A) F=53352 (B) =356 (€) ¥T=52360 (D) =52 370
Under which Article of the Indian Constitution can the President proclaim a National Emergency ?
(A)  Aricle 352 (B) Article 356 (€) Anicle 360 (D) Article 370

e AT U e o T et 7 off

(A) ST O (B) Temidew=m
(C) TSN A (D) A=
The book “War and Peace™ was authored by whom ?

(A) Alexander Pushkin (B) Leo Tolstoy

(C) Fyodor Dostoevsky (D) Anton Chekhov

Ffafad § 4 #1481 GST %1 0% S A8 2 7
Which of the following is not a type of GST ?
(A) CGST (B)y IGST (C) SGST (D) QGST

FAH A S S EA 7 g TR o 7
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Which freedom fighter is the author of the book “Introduction to Dreamland™ ?

(A) Bal Gangadhar Tilak (B) Vinayak Damodar Savarkar
(C) Subash Chandra Bose (D) Bhagat Singh

i-a vt Tewme, v Gl wommaf o, qen s =6 svoma w8 0

(A) HEEETE (i) (B) e =l (shim-2ee)
(C) e (wifazferen) (D) SRR (wafee)
‘Which research design studies the same subjects over a period of time ?

(A) Correlational (B) Cross-sectional

{C) Longitudinal (D) Experimental
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‘The Chairperson and the Members of the National Human Rights Commission (NHRC) are appointed by
the :

(A) President (B) Vice President (C) Speaker of Lok Sabha (D)  Finance Minister
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Rotation of crops means :

(A) growing different crops, on the same land, in succession to maintain soil fertility

(B) some crops are grown again and again

(C) two or more crops are grown si

(D) only one crop is grown

Hifey s = e T A E

(A) WA 5 HE1T S o1 Weled FAT

(C) T T Tofifeat e

What is the main function of NITI Aayog 7
(A) To manage India’s central bank

to increase p

(B) T e i dE e

(D) I F T A T T FAT

(B) To oversee national elections

(C) To formulate national development strategies (D) To manage India’s defence forces

afigor. et ofird T A T (ST (TEfe S e ufere ) e S e 7

(A) F=wEEmT
(B) tafier s=m
(C) i w1 fafmf w o

(D) A frepre, wwTTSrer st i wrepoer o

What is the main purpose of the Association of Southeast Asian Nations (ASEAN) ?

(A) Military cooperation
(B) Space exploration
(€) Regulating international trade

(D) Economic growth, social progress and cultural development
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Which of the following taxes is mot levied by the Central Government of India 7

(A) Income Tax

(€) Corporation Tax

(B) Goods and Services Tax (GST)
(D) State Excise Duty

T T e & ST Pt S #1 et e @ St e 1 S = g Ao e i

T A |
(A) s
(© e e

(B) ZEH
(D) T

is 2 toolkit that targets financial services and enables hackers to build their own Trojan malware.

(A) Zeus
(C)  Rakhni Trojan

it g 1 e e e g

) (B) Fiew

(B) Tiny Banker
(D) Spy Trojan

(€) e (D) famm

In which city is the headquarters of the European Union located ?

(A) Geneva (B) Brussels

(C) Paris (D) Vienna

W H o AT % SieTed ohi aTet Fee o w9 # AT ST 8 7
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(C) wH. TR

(B) wrsfra it
(D) wereRT T

The birthday of which leader in India is observed as Children’s Day 7

(A) Jawaharlal Nehru
(C) S. Radhakrishnan

(B} Rajiv Gandhi
(D) Mahatma Gandhi

e A @ 2024 ), TRl e feree T A (TU) F fefen s A
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Recently (as of March 2024), who was unanimously elected as Co-Chair of the Digital Innovation Board

of International Telecommunication Union (ITU) ?

(A) Sunil Mittal
(C) Neeraj Mittal

(B) Aparajita Sharma
(D) Ajay Ranjan Mishra
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Which Indian ruler was defeated by the British in the Battle of Buxar in 1764 7

(A) Mir Qasim
(Cy Tipu Sultan

(B) Siraj-ud-Daulah
(D) Haider Ali
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